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PART-1| General Intelligence and Reasoning
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Antonum
Except option (D) all others are fertilizers.
Except option (C) all others are found naturally.
Except option (C) all others are famous battle-
fields, whereas Sarnath is a religious place.
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(14x4-20)+12=3
(9%x9-42)+13=3
(12x8-19)+7=11
Similarly, (20 x 10 - 40) + 20 = 8

V64 +/25 + 144 +/36 = 31
J9 +/325 +/16 +/169 = 38

Similarly, /36 + /64 +/576 +/361 = 57
40B8T6M3K4

Using the signs.

40+8-6+3x4

5-6+3x%x4

5-6+12

5+12-6

11

Geeta

25— R
Total students =18 + 6 + 16 =40

Sita

Hence distanceb/w A and D =9m - 5m = 4m

Sum of ages of all the members =6 x 22
=132 years

Sum of ages 7 years ago =132~ (7 X 6)
=90 years

But at that time there were only 5 members
Hence, average at the time =90 +5 =18

Or

Average increases by 1 every year in case of age.
Average age 7 years ago =22 - 7 =15 years
Sum of ages at that time =15 x 6 = 90 years
But there were only 5 members at time

Hence, Average age at that time =90+5 =18
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PART-II| General Knowledge and Awareness
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Vallabh Bhai Patel

Maha Chakri Sirindhorn

Thai princess Maha Chakri Sirindhorn has been
conferred with the first world Sanskrit Award.
Bhima-2

He was defeated by Bhima-2, the Solanki ruler
of Gujratin1178.

Bowman's capsule is a part of Nephron (a cell
of kidney) which is helpful in purification of
blood.

Plasma forms about 55-60% of blood. It is the
liquid part of blood.

Anenzyme named kinase is helpful for clotting
of blood.

The gravitational pull of earth is 6 times the
gravitational pull of moon.

Co (60) or cobalt 60 is a radioactive isotope of
cobalt which is used for the treatment of cancer.
In case of inflation of price of commodities are
raised from their general level. Hence a fixed
salaried personis harmed in such a case as he
has to contribute a greater share of his salary to
purchase the same number of products.

The governor of Bengal.

Qazi fazilat (1541-1545) was the Governor of
Bengal. He was appointed by Shershah Suri
during his reign in Delhi.
Muhammad-bin-Tuglaq

Vijaynagar was a South Indian Hindu empire,
founded in 1356 by Harihara and Bukka dur-
ing the reign of sultan of Delhi Muhammad-
bin-Tuglag.

NH-7 is the longest national highway of India.
Itis famous for the trade of Iron.

Sun is the source of energy in ecosystem as well
as on earth. It provides energy to plants ani-
mals and all the other parts of the ecosystem.
The surface temprature of the sun is around
6000°C. We use Bolometre to measure the
temprature of Sun.

Constitutions Amendment Bill

Constitutions Amendment Bill must be passed
by each house of the Indian Parliamentary sepa-
rately by special majority.

The first National Conference of Investigation
Agencies will be held in New Delhi in India.
Pakistan will host the first- Ever SAARC Young
Parliamentarians Conference (YPC).

The first Census in India in 1872 during the
British period was held during the tenure of
Lord Mayo.
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46. (A)

47. ©

48. (B) The term "Smart Money" is associated with
Credit Card.

49. (B) Article 148 There shall be a Comptroller and
Auditor-General of India who shall be ap-
pointed by te President by warrant under his
hand and seal and shall only be removed from
office in like manner and on the like grounds as
aJudge of the Supreme Court.

50. (A)
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—_— PART-IIT| Quantitative Aptitude

1000x5x10
51. (A) Interest for 10 years = o - 500
Now Principal = 1000 + 500 = ¥ 1500
100 % 500 2 2
irod time = ———— = 62+10=162
Required time 1500%3 3 3 y1s
52. (B) Letratioish:1

£ <
BLULULLLLLY B

55. (D)
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30-6  Ax, + 4%

Now, -4= T A+l
40 -4=30-6
2=7n
2
=7
Ratio=2:7

sin0 + cos’0 + 3 sinb cosO (sind + coso) + sin®o -
€0s%0 - 3 sind cosb (sind - coso)

2sin%0 + 3 sind cosO (sind + coso - sind + cosO)
2sin°0 + 3 sind cos x 2cosO

2sin%) + 6 sinb cos?0

2sind (sin%0 + 3cos?0)

2sinf (1 + 2cos*0)

2sinf (1+2cos*6-1+1)

2sinf (2 +c0s26)

Let the total distance is 3x km

Average speed =

Total Distance 3x
Total Time X X X

131 km/hr
X X X 13

20 15 10

D D
- +— =3
943 9-3
2+2:3
12 6
D=12km

eries No J
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56. (B) 15M=24W=36B 1 8x12
15 M 8x12
><M>< 9 >< 6x30

4
15 2 Bx12
= X —X———
X 4 6x30
x =18
15 15
Required Men = 18 - (ZJr?) =8

1
57. (B) Volume of Pyramid = 3% Base Area x Height

1
= §X30><18><8

= 1440 cm?
Here, Height = (17)2 - (15)2 =8cm
58. (B) o C
D 10
7 E
A 9 B
<A = «CED
in AABC and ACED
£C =/C
ACAB ~ ACED

CA AB 15 9
CE DE 10 «x

X =6
59. (B) Profit = Money x Time
A B C
2 ! 7 : 9 1
X — X — X —
7 9
1 1 1
1
Required Profit = 3 1080 =% 360
22
60. (A) - X 12x35%x35=105%x8 xh

h=1375m
61. (C) Percentage of students who play both the games
= (40% +34% - 48%) = 26%

234
Total number of students = 5 x100=900
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Water

\ /
64/1375\\64

110
10 : 1
Ratio of Water and Milk =1 :10

3600 7 <1 Idx 3

=117.85 m2

Required Area =nr?

o=

k=108

As per option answer is (B)
a+(-b)+(-c®=0

(@) + (-b%F + (-c°F = 3 (a°) (-b°) ()
a’-b’- =3 a’h’c®
a’-b'-c?-3ab’ct=0

Let the first term of AP =a

Let the common difference =d
According to the question
at13dd=6 .. (@)
a+bd=14 ... (i)
from equation (i) and (ii)
a=19
T,=a+(9%-1)d=a+9%d
T, =19+94x (-1)=-75

9
Price after I*t discount = 3200 x ——

100

= %2880

(2880 - 2448)
2880

" discount= 100

2
x100 =15%
2880 15%

Let ZADC=x"

Now, in AABC
AB=BC
ZBAC=2/BCA =40°
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ZABC=100°

ABCDis a cyclic quadrilateral
ZB+ /D =180°

4D =80°

According to the question

Value of stone o (weight)?

Actual weight of stone = 20 units
Actual value of stone = (20)> =400
New Value of stone =138

Logg o 6800
055 = 400

x 262 =T 4454

Let the side of the new cube =a cm
a’ = () + G+ (6)

a’ = 405
a = 3105
a=3315 m
170
Required times = %XIOO
= 2125

Required difference = (75 - 68)
=7%
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PART- D | English Language
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anything 'for'
miles 'around’
No Error

Disdain(v)-to look upon, scorn/ fi&FR
Scatter(v)-to separate/ o™
Condemn(v)-to blame/ a1 &
Incinerated(v)-to burn/ /& &1
Destroyed(v)-to put an end to/ T= &
Bombed (adj)-blitz/ st
Pernicious(adj)-causing harm or ruin/ BTerRaEH
Innocuous(adj)-not harmful/ ST
Ruinous(adj)-fallen into ruin/ J/&g
Gross(adj)-without deductions/ ¥&a
Obscured(adj)-not clear or plain/ 37¥q<
Coarse(adj)-harsh, faulty quality/ *T=1
Sepulchral- Fsha

On the spur of the moment- 9
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In double-quick time/ STfsiis
Have the last laugh- 37<1 § 9% g1

Espionage- STR[E

Estrangement-discord/ #7H<™

Cataclysm- 9o

Catacombs-underground cemetery/ T8@T
Catalysis-causing of chemical changes/ SR
Effervesce-adet

Efface-do away with/ e

Toothache = <l w
Own = THEIEA
Machinery = HdA-
Raw Material = hedl 1A
Revived = eifo
Sonorous = HY
Considerable = T
Collusion = HUS
Obtain = 9
Domestic = ‘51'\{?1
Invitation = T
Decent = 99
Culprit = TR
Spying, =
Destruction = fomma
Pesticides = HIANE
Context = Hey
Fallout = 3R
Explosions = foope
Melange = faamEe
Augment = 9gMI
Sinister = TEE
Interaction = TIE
Summation = wig
Synthetic = HaIra
Deluge = 98
Gunk = feafedr eref



